?
N
4

5

-

CS/MCA/EVEN/SEM-4/MCA-403/2015-18 ‘

mmmmm

MAULANA ABUL KALAM AZAD UNIVERSI‘!'Y OF
' TECHNOLOGY WEST BENGAL
S Paper Code MCA-403 '
DATABASE MANAGEMENT SYSTEM-H

_VTtme Allotted : 3 Hours | Fuu Marks 70 )

The ﬂgures In the ‘margin lndlcate full marks

' Candldates are requlred to give thelr answers in thelr own
words as jar as practicable

. (Multiple Choice Type Questions )

1. Choose the correct alternatives for the following :
S 10x1=10 -

1) Suppose R is a relation of n attributes '
o {A fA‘ ...... A }as a function of n.- How many N

super keys R has if the only key is A ?

a) 2'n ~'-_\b)‘fm-n'
o 2™ . d). None of these. )
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i) 4 NF diﬁers from BCNF m only the use of MVD

mstead of
i chttkey el
d) ! Non trivial ‘4

iii) Fof.relatton (4, B, C) o, (C D E) and r (E F).
assume that r. has 1000 tuples r has 1500 tuplcs

N

i and T, has 750 tuples Maximum size of
r bar. p<ar. is | |
1 23"
~a) 1000 tﬁpl_eu | o fb)_ 750 tuple
"o 1500 tu.ple' o @ 1500750 tuple

B i\'/),' 'Which ol' the followtng ensures that the system wtll

never enter into a deadlock ?
Ca) D'eadlock detection' protocol

| . N b) - Timestamp ordering protocol

<y

s Two phase locking protocol
d) None of these.
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L v) A seriallzabtlity order of the transacuon can be
| obtained through |
a) Quick sort o b) Topoiogioal sor;
0 So_lectloo sort \. d) VI\‘/‘Ie}r'ge sort |
._ ﬂ) ._'.Block,:ivntverloa\v"ed di's.tiribo‘te;c"i‘barfty‘is RAID level
) a) 2 w3
o 4 @ s
' - S : ' vii) .Immediéfe data'bose riiodtﬁcatio;l 'technﬁldué; uses
| a) Bot'h’u'ndo‘"and rodo .
b) ‘.lJndofb'uvt r.xo*r'edo
) "Redjo but no unoo 3

d) - Ne'-ither undo nor i‘édo. ‘

concurrent operations ?
a " SRR a) Lost update proble_xﬁ b)"_- Update anom‘alyb‘

" ¢) . Unrepeatable read d) Dirty read.

e e 20 B
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viii) Which of the followlng is not a consequencg of
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ix) 'Fetehtng ﬁast the last row of a ciii‘Sbr, raises
' a) NO_DATA_FOUND exception
b VALUE__ERROR cXéeption i
" ¢ CURSOR_NOT FOUND exception
- 'd) No exceptidn.

| x) - A statement that is executed automatlcally by the s
= system a stde effect of the modtﬁcation of the "

at

database is |
a) 'Baekup | .' : b) »'Aeeetuen
| "‘c) Recovery _- Trigger
GROUP B
( Short Answer Type Questlons )
Answer any three of the following - 3 x5 = 15:,:_
2. .V:Is the 'glven, ',schedule ‘S both’ wr'ecever'able and o
| - cascadeless ‘? Give reaebtl's t‘or yoﬁr answer :

- S: rl(A).rz_(B).wl(A). »rz(A).Lt’z(A).' r(Auw (Aw, (Bc.a,
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* 3. Define triVial rnulti valued dependency and trlvial join
dependency MVD 1s a special case of JD Justlfy the»
statement. N o _‘ L ' 3+,2' |

4 Write the basic steps to créate an 'e;q)lic;t cursor.
5. ‘What is lost update problem ? What s phantom
prabiem? . e e "3+2 o

SR : R ’DISCtiss Thomas Write rule.

4

(Long Answer Type Questions‘) |
| : An‘swer any three of the fellong 3 x' 15 45
g Deﬂne lock Wnat' isfm;;a.y lock ? Whatisthe basic .
| mechanism for implementing isolation of transaction’“

using binary lock ? Why does ZPL not guarantee "

o

E freedornefrom deadlock ? »Discuss the dlﬁ'erent levels of
. lock granularity;»' . o e 2+2 +4+4+ 3
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8 Deﬂne cursors tn database. What 1s active data set ?, . -
T What are the dtfferent parts ofa databas; trtgger ? Why
"cannot we tnclude trtggers tn database packages ?' -
Gonslder a relatton EMP (ename. eno, sal job). Write' B
-PL/ SQL, appltcat_ton} that would pre\(ent ‘any negative' '
e ~tnvp‘utv for,‘ the ,ﬂetd" sal fdr _the gt\ten, rrelatta_n&dstng |
."9. B Dtseu_ss’ ;tog based' recovet'y "jsy's'tem, thfer_e’x\xt‘tate. '_ < ‘
‘betweeh deferred -.medi‘f_t_catton and immediate da,tat‘;a_se _’ .
. modtﬂcatlon Give your Vtew point on the different types
’of database lntegrtty How does foretgn key referentiallyv

thtcgratedatabasetables - -3+3+6+3"

| 10 thh a. suttable dtagram dtscuss the referential
= archttecture ot' distributed database management
:'system Gtve a comparattve study of the dtfferent levels

of transparency in DDBMS How does an auxmary

program help in fetching data in a DDBMS?  6+6+3
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: j' " " ‘l~l.v Write notés‘qn‘.»the‘foilldWingi}(a‘n'y,tvhree')f;'f : . 3x 5
2 Mul vémedi‘beéé‘-_‘derijcy‘- e |
b Shadowpagmg : |
e Wound and Walt vs Wait and diescheme
. dj' ‘jv\.Vrl-te 'avht.e'ad}. I_og prqvtdeol‘v

‘e) Transaction states.
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